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GRADE 6

a Primary School Education Assessment

Keny
CREATIVE ARTS AND SOCIALSTUDIES

11. Which material is not good for carving to create

clements ofart. Which

1. Threeofthe following arc
onc is not? on item?
A. Linc. . Shape. A. Wood. B. Stonc
C. Value D. Balance. C. Metal . Rubber
2. Ina ::ﬁll life composition, the overlapping objects | 12, Which onc of the following is mot a primary
creale g
. Y] -
A. proportion B3. rythm and movement colour” ol
C. layout D. balance. A. Red. I
C. Blue. D. Green.
3. A plastic, paper or metallic material with cut out
p‘ - BAp . L 13. AGradesix pupil drew the picture below. Identify
designs for making prints 1s called a . ~derati
A. media B. motif the aspect that was not put into consi eration.
A. Proportion.

C. stencil - . print. @ ‘B Bal
. Balance.
4.  What is the use of sand papers during a carving C. Space.
p g g p

D. Colour.

activity?

A. smoothen rough edges of a design. ¥
E T : . )
“14. 1dengily the leather wristband that has been

. join edges ol a design. i‘—r!
C. d‘u.Ordlu f,d‘:’,(.b ol a (lkhlc’n. % ! = l-% ralcd using a zigzag pa“cr"_
. foriexturing. i S"% : ' B
i '{} > O o
_ ) * ) éb | 9, 0°°° Cloeeocovcoe
S Which one of the modelled clay articl Yol (A o oo -
lindrical form? | o =
a cylindrical form? | F A =
; . °0000°°°-o° D oo°°°°°
o © d 00?

When overlapping objects in a drawing the

G objccts in the front are said to be in the

A ‘B C D
6. Pressing kneaded clay to remove the air trapped A. background
. . B. foreground
in the clay is called C :
o . C. frontline
A. scoring B. cmbedding ;
i . D. middleground
C: picicing : DD. wedging.

16. The type of the songs that widely listened to or

7. During a weaying a_q}_i@{ihv. the materials that are
watched by many pcople are called

“imerlaced vertigally are called

/}. well 3. l_hrcg‘ds A. patriotic songs 3. action songs
C. warps 1). [fabric C. popular songs . topical songs
8. '1.'h‘C cut-out pictures uscd to creatc montage arc 17. On which of the following occasions will National
quL:d on a flat surface ¢.g. a ply wood. This Anthem be performed?
surface 1s‘kn0wn asa _ A. Weddings. B. Music festivals.
A. matcrial B. potrait C. Birth days. D. Church service.
C. colons ). base, :
9.  Which one of the following is not a painting tool? 18. lca?hcr lfahma \.pvants to record her class singing.
A. Pencil B. Paint brush Which of thesc instruments can she use?
C. Palette. ). Spatula A. Phonc. B. Television.
' C. Piano. D. Kcyboard.
10. Block letters arc also called
A. 2 dimensional letters 19. The Nyatiti is an instrument played by the Luo
B. lower case letters community. Itisa instrument.
C. upper casc letters A. percussion B. brass
: C. wind D. string

D. 3 dimentional letters
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20.

21.

22.

A Y
S dapy A (&P

What is the french rythm pames_for the musical
notes below rcspccti\'cly'.’

a) d b) J

taa-aa, laa 3. laa, la-t¢

3. taa, taa-ad . taa-aa, tat¢
Grade 6 learners were heard singing loudly and
softly at different times. what element of music
were they using?

A. Articulation.

C. Rhythm

3. Dynamics
D. Tempo
Juma was asked 10 sing ‘soh’ while George to Sing
i+ Who sang the highest note?

23.

24.

25.

r was asked 1o identily

A gradc six lcarnc
dance. Which one was

componcnts of a folk
not among them?

A. Costumcs.

C. Aclornments.

BB. Resonatcrs.
. Ornaments.

ows pereussion instrument.

‘The diagram below sh
sound afier hitting?

Which part produces the

Y A X-
X B. W
W C. Z

D. Y

here threc people or three
art song is called a
B. trio

The performance W
groups sing a thrce p

‘mi’.
A. George. 3. Both.
C. Juma. . None. A. duct
C. solo D. choral
KARA AREA
- KEY
=
Tarmac road
— | Murram road
" | Sub- county
0-0-00 .
N . Qoundanes
—I1C Pe_rmanent
= -~ ] building
T P.P__|Police Post
Mkt | Market
BH Bore hole
sco Sub- county
- office
: 500 . % Quarry
;.. Y = y 0 1L | Shrubs
.S (3%
5555555 355sSeBsssaN N 1D |1 peliment
L ] ] | | ) l 1 1 S .
SCALE I ! I I I Sisal fa
o123_456'7'3951(')"”'—'S m
Use the map above fo answer questions 26 - 30
29, Which onc of the foliowing cconomic activitics

26.

27.

28.

area is likely to be headed by a

Kara
A. Deputy governor B. Commissioner
C. Governor D. Subchicf.
‘I he climatic condition experience in the arca is
A. hot and dry B. cool and wet
. hot and wet

C. cool and dry

Which one of the following problems is

experienced by people living to the western part
ol the arca? Lack of

A. cconomic activities B.
C. sccurity D.

market
water

30.

2

is not practiced in the arca?
A. Lumbering

B. Mining

C. Cash crop farming

D. Livestock farming.

What is the direction of the quarry from the sisal
farm?

A. South West B. South

C. North 1>. North East
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CamScanner



31. Learners from Kawangwuie prim
given project work on entrepre
onc of the following virtues w
they work together?
A Communication
C. Smuggling

ary school were

neurship, Which
ill they not learn as

B. Teamwork,
D. Responsibilitics.

32, Duringaficld study ina nearby market, grade six
learners asked traders about some of the illegal
trading activities some traders may cngage in,
Which one of the following was one of the correet
answers they got? Selling
A. ofwraditional food stuff.

B. good from other countries.
C. unlicensed goods.
D. oflocally manufactured goods.

33. The pictures below were taken by Grade six
learners during their visit 1o one of the
muscums as cultural artefacts. Which one of
the following was not likely 10 be among them?
' A

A2
tm
34, The Toll
learners about characteristics of climatic
conditions experienced both in coastal lowlands
and Lake Victoria basin, Who among them gave
the correct answer?
A. Amina - they are generally humid
B. Kibe - they have high'altitude
C. Ouis - they have low temperatures
D. Linet - they have unreliable rainfall
35.

Below are responsibilities of school

admunistrators. Which onc is correctly matched

with the function?

AL Teadteacher - seeretary 1o stafl meeting

3. Deputy headteaclier - prepares school
timetable

C. Class teacher - register new learners,

). Pupils lcaders - marking ol class registers,

Use the diagram below to answer question 36

36. The featurc shown in the diagram above was
formed through a process called )
A. folding and sinking . down warping
C. faulting and sinking [.cruption

“The most recent global challenge that affected
tourism is

A. poaching
C. covid-19

37.

B. insccurity
D. poor roads
38. ‘The chart below shows the structure in
Buganda kingdom. name the parts labelled Y J
and X respectively?

KABAKA

T'rcasure - X

Chief justice - Y Prime minister-

KATIKIRO

38. The chart above shows the structure in
Buganda kingdom. name the parts labelled Y
and X respectively?

A. Lukiko and Omulamuzi.

B. Ssasha and Omuwanika.

C. Omulamuzi and Omuwanika.
D. Lukiko and Ssasha.

39. Rights agd freedom of a citizen in Kenya are
entitled in.the

a»—‘& constitution

" olitical parties’ act

ris Y arliament

resident’s office

Al
By
C.

ch one of the following is not a member_of

T etunty executive committee?
. Governor

A
B. Appointed executive oflicers.

C. Deputy Governor,

D. Speaker.

CHRISTIAN RELIGIOUS EDUCATION

41. Moses showed obedience to God by doing all
the following except *

A. removing his sandals as instructed by God
B. taking the Israclites out of Egypt

C. killing an Israclite

D.

he accepted to be the leader of the people of
Israel.

42. Which one of the following events took place
during the baptism of Jesus?

A. Jesus cried in a loud voice.

B. Jesus clothes were dazzling white.

C. Tongues of fire settled on Jesus head
D.

leaven opened.
43. Which of the following was performed by King
Solomon?

A. He appointed the first King of Israel.
B. He visited a witchdoctor.
-.C.

He scttled a disagreement between two
women who were fighting over a baby.

D. He killed a lion with his hands.

)
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44. “MENE. MENE. TEKEL"Were the words that were
written on the wall. Who interpreted the words?
A. Belshazzar. B. Ncbuchadnezzar.
C. King Darius. D. Daniel.

45.

Teacher Magdalence narrated the story of how

Jesus calmed down the storm to her class. By
calming the storm Jesus showed that he had power

over
A. dcath B. nature
C. evil D. discascs.

46.

“Luke 22:17. Then Jesus took a cup, gave thanks
to God and said, Take this and share it among
yourselves™ On which ocassion did this take

place?
A. Transfiguration. B. Last supper.
C. Baptism. D. Temptations.

47.

Grade 6 learners were asked by their teacher to
identify the fruits of the Holyspirit. Who among
the following got it incorrectly?

A. Amani - faithfulness, patience, kindness.

B. Joy - self control, humility and prophecy.

C. Mwangaza - peace, joy and patience,
D. Amanda - goodness, kindness and j

48.

Which of the following is not a way 0
expressing our faith in God?

-A. Visiting the sick.

B. Singing and praising God.

C. Praying for the sick.

D. Avoiding going to church.

Who among the following people were jailed for

preaching the word of God?
A. Peter and John.

B. John and James.

C. Ananias and Saphirra.
. Paul and Timothy.

49.

5(). Noah had three sons. Who among the three
sons saw his father’s nakedness?
A. Shem. B. Japheth
C. Cain D. Ham

ISLAMIC RELIGIOUS ACTIVITIES

A chapter begins with: '
*Wailun Likulli humazatin Lumaza’. The last

verse in this chapter is ]
A. Faammaa bini'imat rabbika fahaddith

B. Fiia'madin mumaddada

C. Watawaa Saubi Swabr
D. Thuma Latus-aluuna yauma idhin anin

41.

naaiin.
‘Which Surah will you use to teach Sadiq
who likes wasting a lot of time instead of

concentrating on studies?
A. Surah Asr. B. Surah Takaathur.

C. Surah Kauthar. D. Surah Maun.

42,

43, Surah Al-Qariah describes the Day of Qiyama
as the day when

A. there will be only onc
B. people will appear with
C. the earth will reveal peoples’ secrets
D. people will be scattered like moths.

shed tor believers
1,lded faces

I'he year when Abraha Ashram attempted 10
destroy the holy Kaaba remained in the history
of Islam as which year? The year tof

A. remembrance 3. jubilce

C. elephant D. sorrow

44.

The hadith of the prophet(S.A.W) tells that

Allah(s.w) cursed

A. women who wear clothings to pleasc
people.

B. women who wear men’s clothings

C. men and women who wear cloth to cover
the aura. .

D. men who wear expensive clothings.

45.

Who among the following muslims planted
“trees that benefit other creatures?

46.

. Musa - planted trees 10 slop soil erosion

lusscin - planted trees of fruits for sale

¥ I3ilaal - planted trees 1o fence his home.

Rashid - planted trees and birds have build

nests on them.

d g good muslim you appreciate prophet

Muhammad(S.AW) by

A. following his Sunnah and hadith

B. using attributes of Allah in making dua

C. belicving that whatever Allah plans is the
best for you.

D. accepting cvery muslim as a brother.

Before sceking for Tawbah from Allah a muslim

who secks for forgiveness should do all the

following first except  OnCiescep  Ume «

A. has to be sincere and tuthfuly iy

B. should show total regret for sins
committeed

C. mestruation flow.

D. should resolve never to repeat the tins
again.

48.

Which of the following impurities isnota
I1adath Akbar?

A. Emission of sperms.

B. Bleeding afier birth.

C. Menstruation flow.

D. Passing Urine and stool.

49.

§0. In the Islamic sharia. there arc a total of
recipients of Zakkat.
A. six B. seven
C. eight D. nine

4 K.P.S.E.AGRADE 6 CREATIVE ARTS &SST 008
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JESMA) K.PS.E.A. EIGHTH TRIAL 253501
GRADE 6 :

Kenya Primary School Education Assessment

-COMPOSITION -
40 minutes

Complete the story below making it as interesting as possible.
It was very rare to see our classteacher coming to school ldtc, On that particular day.

.........................................................................
.........................................................

we were all

Website: wwv.v.jcsmapublishcrslld.com E-mail: jesmapublishers@yahoo.com
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Kenya Primary School Education Assessment

= ENGLISH - Time: 1hr 20min

Read the following conversation and then answer questions 1 to 5.

Tortoise:

Hyena:  No. Ididn't, What did the king say?

Tortoise:
us.

Hyena:  How come I did not sce him?

Tortoise:

Hyena:  Whendid this information go round?

Hey Mr. Hycena, did you hear what the king said would be happening soon in this jungle?

Mr. Lion sent word all round the jungle that there would be a dancing competition among

lle did not come round personally. He sent his messenger, Miss Jackal.

Tortoise: [ast Wednesday during the better part of the afternoon.

Hyena:

I guess 1 did not get the information because on that day I was away looking for some herbs.

Tortoise : Well, now you know. Prepare for the same.

Hyena:  Thank you so much for the informations

1. According to this conversation, wh

king?
A. Hyena, - B. Tortgi
C. Lion. D. Jackal.

2. Whichoneof the following statements is not
true as per this dialogue? The
A. lyena neither saw nor heard the
LR Simessenger pass the news.
B. Tortoise was well informed about the
cvent of the big day. '
C. Liondid not gg round the jungle passing
the information.
D. Hyena was not willing to take part in the
competition,

3. The Hyena did not get the information
because
A. he was away looking for herbs
B. the messenger did not know where he
was i
C.

miss Jackal did not pass by his place
D.

he came home before the message was
passed across,

Website: www.j esmapublishersitf.com
008

Haw many animals have been mentioned in
Hd dialogue?

Two.
B. Four.
C. Five.
D. Three.

3

The phrase during the better part of the

afternoon has been underlined. What does

itimply? _

A. For along time in the afternoon.

B. In the afternoon when every animal
was present

C. From two to three in the aftcrnoon,

D. When the weather was conducive for
the passing of the information.

TURN OVER
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Read the passage pelow and ans

Zebra is a horse-like animal found in Afn
because of its unique colour patierm of altermatin

act as some form ol eamouflage.
hyenas arc mosl active. zcbras look indistinct
also dissuade insccls that ree

because of their uniqueness. SIIpes may

ca. It differs from all other
g white and bl
Atdawnorinthe cvening.
and may confuse p
ognisc only large arcas of single-coloured

also help zcbras rccognisc onc

wer questions 6109.

members of the horse family

ack or dark-brown stripes. The stnipes
» when their predators. mostly lions and
redators by distorting dist

furand actsasa kind of sunscreen

ance. Stripes

nother.

6. Theanimal that zebra docs take afler is
A. the horse
B. the cow
C. thelion
D. the antelope.

7. Which statement is true? All zcbras
A. are black and white
B. are black or white
C. arc cither black or white
D. have stripes.

M

Read the passage below and answer

Dream, dare and do. It may be the
not allow anybody to write your agenda, you

is very important.
ave a role model, so

guide you and motivate you to get where you want to be. Dream......

i, A0

are in charge of your own life. Have goals in your life. This

8. ‘Tocamouflageas used in the passage means

to
A. match with the colour of your surrounding

B. come out at dawn
C. have the same stripes :
D. change colour like a chamelcon.

9.  When arc lions and hycnas most active?
A. In the afternoon.
B. Inthe evening.
C. Atdawn
3 At dawn or in the cvening.

1 it should apply all through your life. Do

meone within your own culture that you can identify with. Someone who will

The sky is not the limit.
a0 2T 0 L U Y S LIET

) b

- 10. From the first paragraph, the writer wants
us to believe that
A. what you dream is what you do
B. what you do is what you dream
C. the guides’ motto is dare and dream
D. all through your life you should dare to

dream. .

11.  According to the writer,

A. one can set goals for another

B. don’t allow anyonc to dream on your
behalf

C. writing an agenda together makes life
interesting

D. its very important for onc to set their own
goals. ' .

12. Theskyisnot the limitas used in the passage

means

A. you can do all you want without any
limitation. .

B. the sky is too high to reach

C. thesky is limitless, so dream as much as
you can.

D. no one can get beyond the sky so its
useless to aim so high. '

-
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Read the passage below and answer questions 13 10 15.

Gedi is an important historical site off the Mombasa-Malindi Road. It consists of the ruins of 18"
century Arab town. Itis about 114 kms from Mombasa and 16kms from Malindi. The town of Gedi was
built in the late AD 1200. By 1450, it had grown into a very big town. but it was abandoned in the
1600s. :

Itis not very clear why this town was founded. It is said that a group from Malindi moved to Gedi

afier disagrecing with their relatives in Malindi. The town does not scem to have been of much business

importance.
13 How furis Mombasa from Malindi? 15. Whichof the following is true according lo
0 194 km the passage? Gedi was
l: :);2Kn1 A. abusy trading centre.
) m : B. abig town ncar Malindi
). 16k C. the headquarter of Arabs

. . ) L D. was not an importancc busincss town.
14. ‘Thetown of Gedi was left behind in the
A. 1450
B. 1200
C. 1600s
[). 18™century.

red 16 to 20. For each blank space,

i ‘
Read the passage below. It contains L B¢
select the best alternative from the chot : ~ .

Tourismis the _16 _ growing industry of all globally and is 17 universal factorin the balance

of payments for many countrics. __18 tourism sector 19 Kenya hascontinuedto _ 20 an

important role in the country’s cconomic development.

16. A. fast B. faster C. fastest . D. fastier
17. A.a B. an C. the - D. some
18. A.'The B. some C. Few D. Afew
19. A.in . - | B. on : C. off D. from
20. A. play. B. played C. playing o D. pray
3 K.P.S.E.A GRADE 6 ENG 008
e

CamScanner



For questions 21 (0 23, select the best
prepositon to fill in the gap.

21. My fatherput ____a wall around the
house.
A. off
B. in
C. on
D. w

22. Weshouldabide __ theschool rules.
A. with
B. by
C. from
D. to

23. I think that Doctor Walker can cure the

child typhoid.
A. about

B. of

C. with

D. from

For questions 24 10 26, choose opposit
the underlined word.

24. Itis not good to eurse somebody.
A. praise -
B. bless
C. reject
D. honour

25.  We know that he is an honest man.
‘ A. rude

B.- unkind

C. dishonest

D. proud

s L]

26. The holiday tuition is compulsory.
A. mandatory
B. nccessary
C. optional
D. crucial

For questions 27 {0 29, complete the
sentences below.

27. Roofistohouscas _ __ isto mountain.

A. peak B. base
C. branch D. snow
28. Chemist isto medicine as isto flowers.
A. vase B. florist
C. bouquet D. bed
29, Spideris ___~_ asbirdis {o nest.
A. nest B: hole i
C. web. D. byre

For question 30, complete the sentence.

ssuchasmallroom - the
s started sweating.

seel L sl A

A S K DCE AMDANE & EMMN NAR

-
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Kenya Primary School Education Assessment

= KISWAHILI - Muda: Saa 1

“Soma mazungumzo yafuatayo kisha ujibu maswali I - 5
(Maria na Kamau wananyunyizia mimea maji. Mazungumzo yao yanakuwa hivi)

Safari; Masalkheri Rukia?
Rukia:  Akheri Safari. Naona umeniwahi kufika lco. .
Safari: (Akitabasamu) Nimefika muda mfupi tu uliopita, yapata nusu saa hivi,
Rukia: Nusu saa! Huo si muda mfupi. Lazima umcfaidi maonycsho mengi kabla sijalika.
“Safari:  Kipendacho moyo ni dawa. Ninayapenda maonyesho ya kitamaduni kwani hunipa fursa ya kipekee
ya kujilunza tamaduni za wengine. .
Rukia: Hayo ni kweli ndugu yangu. Isitoshe tukifurahia tamaduni za wenzetu, tutawaelewa zaidi. Hini
njia muhimu ya kuimarisha mshikamano wa kitaila. 2
Safari: Naam. Hali kadhalika, mbali na kuburudisha, vigizaji ni njia mojawapo ya kutambua na kukuza
vipawa vyeltu.
Rukia: (Akiwatazama vijana walio jukwaani) Hilo linanikumbusha kwamba tulilipa kiingilio ili tupate
nafasu hapa ukumbini. Haikosi waigizaji hawa watapata ujira wao kutokana na malipo hayo.
Kwa hivyo, tamasha hizo kwa wengine ni njia ya kuzimbua riziki. .
Safari: Maigizo yenyewe huwa na dhamira mbalimbali kama vile kukashifu maovu, kuelimisha na kupinga
mila potovu. Bila shaka hii ninjia mwafakgya kuadilisha jamii.
Rukia: Naona jukwaa li tayari sasa. (Ana dogl }—-Nﬂ‘hx i tutuame ili tusipitwe na uhondo.
Safari: Sawa dada yangu. (wanatulia fm::lﬂm“ gicherg aani)
1. Safari na Rukia walipatana ukumbirfi ' i manufaa ya maonyesho haya
upi? c ] llinkana na mazungumzo?
A .Asubuhi B. Jioni | — % a—t [burudisha na kukuza umoja wa kitaifa.
C .Adhuhuri D. Haijulikani B .Kuelimisha na kukashifu umoja wa kitaifa.
) C .Kuvutia na kupinga tamaduni za wenginc.
2. Safari alifika mapema kwa sababu D.Kufurahisha na kutctca mila potovu.

A .alitaka apate nafasi nzuri ya kukaa
B. hakutaka Rukia afike kabla hajafika

4. Malipo yaliyotajwa katika kifungu hiki ni

C. alitarajia kumwona Rukia ukumbini A .rQ§hz!l3ara : L o
D.aliyathamini maonycsho ya kitamaduni L ; D karp
5. Inaonekana Rukia na Safari ni,
A . ndugu. B. marafiki.
C.. watoto. D. wazee.

Soma kifungu kifuatacho kisha ujibu maswali 6 - 9

Arusi ya Kanga na Mbuni ilikuwa ya kufana saha. Ndege na wanyama mbalimbali walialikwa kutoka
sehemu zote za hchi ya Nyika. Kutokana na urembo wa Kanga an ukarimu wa Mbuni, wageni wote walikubali
mwaliko na kuahidi kufika mapema. : % :

Siku ya siku ilipofika, Kanga alijikwatua kwatukwatu na kujipamba kochokocho. Puani alivalia kipini
na kishaufu. Alivalia vikuku kwenye miguu yote miwili. lsitoshe, alivalia mkufu maridadi uliofuliwa na
Nyani. Alikuwa ameletewa mkufu huu awali katika karamu ya posa. Veli yake nayo alishonwa kwa ustadi
na Chiriku. Tuyu alikuwa jirani yao akyesifika sana katika shughuli za ushonaji nguo. '

_Mbuni hakuachwa nyuma. Aliziapgua kucha zake vizuri, akavalia suruali ya samawati, shati jeupe na
ndefu kwa ufundi mkubwa. Siku hiyo hata alikuwa ria miondoko ya kipekee iliyojaa mbwembwe.

Wanyama na ndege waliokuwepo walielewa kuwa umoja ni nguvu utengano ni udhaifu, Kila
mmoja alijitoa mhanga kuifanikisha karamu hii. Walioshiriki kilimo walileta mazao na viungo kutoka

‘Tovuti: www.jesmnpubiisherslla.com R Barua pepe: jesmapublishers@yahoo.com
008 © Jesma Publishers & Iiducational Boosters Ltd.Simu: 0794677748/0701545759/0734207811 GEUZA UKURASA
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oA sheer:
A o R I\’)F\ ArEim-
{a nyama na mayai.

akaongoza sherehe y
npi walit

shambani. Wafugaji walile
wote walitulia Kasisi Popo
upishi walikuwa wakiandaa maakuli. We
hakuonckana kubabaishwa nd harulu nzuri
wAla! Huyu si yule Fisiwa samani. Mtu hubadilika,
Baada ya kula Kiapo, wole Wi
hotuba zilitolewa, wengi wakawatakia maarusi 1
[lata baada ya kufumukana, kila mmoja

Wacheza ngoma stadi walifik

 kufunga akidi.
npongeza Fisi kwan
kutoka jikoni.

*alijitetea Fist.
Jitulia maakuli yakaletwa.
naisha ya [anaka.
alienda akiisifu shere

a 7zao saa sita kamili, )
1ayo yukif'unyiku, magalacha wa
i kinyume na ada yake. siku hiyo

a na al

Kila mmoja alikula tani yake. Mwishowe
Zawadi kochokocho zilitolewa na .

he hiyo ya kipckee.

a ni nguvu utengano ni

wageni.
alifika kwa wingi kwa sababu

6. Wageni w
bo na Mbuni alipenda

A. Kanga alikuwa mrem
kusaidia

3. Mbuni alikuwa mrembo na Kanga alikuwa
karimu

C. arusiilifanyika karibu na pale walipoishi

D. sherehe hii ilitangazwa kwa muda mrefu

7. Neno karamu ni kisawe cha
A. kalamu
B. siku
C. sherehe
D. arusi.

8. Methali umoj
udhailu imetumi
A. bidii
c. umumilivu

wa kuhimiza
B. ushirikiano
. utengano.

ancno ya fisi

9. Kulingananam
kwamba alikuwa mlafi

A. waliosemad
walimwonea burc

B. hakuwa na haja ya cha
awali

C. siku hiy
kuleta zawadi

D. mtu anayefikiriwa kuwa m
“kubadilisha tabia

kula kama hapo
o, kinyume na zamani, alikuja tu .

baya anawcza

Soma shairi lifuaralo kisha ujibu maswali 10 - 12

Mahusiano muhimu, sote tukizingatia,
Umoja wetu udumu, wote kuwakumbatia,

Tusemezanc kwa hamu, h_k}b‘l‘i ukivomi

Raha itapatikana, kote tut ng’unt'

Mwengine kimkosea, sa
Zake sije jiendea, kumwa¢ i
Asije kukukemea, urafiki ‘
Rhaha itapatikana, kote tutajivunia.

-

Nji.zll'ni mwenye taabu, haja yake mjulie
Usijitie ububu, shidaye mtatulie,

Na mwovu akijatubu, makosa mvumilie,
Raha itapatikana, kote tutajivunia.

l]-ch zangu ninafunga, wito wangu usikie
iS)l UV\fml ninatunga, neno ulifikirie, ‘
Ramo!a‘luki.jiunga. upendo tuzingatie,

aha itapatikana, kote tutajivunia.

10. Shairi la aina hii huitwaje?
P ] i ’
| ! | ) . zane halafu umsamehe |
C.Tarbia : 3 B. akuombe msamaha : |
D.Kibwagizo. D uambie akusamehie j
. . y D.umwondokee ikiwa ana hasi “
11.  Ujumbe wa shairi hili unahusu ninjo A | o i
A.Kusomakwa'bidi. "’ - |
B. Kuwapenda maadui. ' r ‘
C.Kuomba msamaha ukikogea & ‘ |
1>.Kujenga uhusiano mwema - i
1
| l
: !
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Soma kifungu kifuatacho kisha uyajibu maswali 13 - 15

Rukono ya mama alikiriza nike inoketi kochini. Aliibof : iki
TP ye e ‘n/.lnllxdl'npf)kcza pale a'hpokcg kochini. Aliibofya na kuitikia. Mara nikamsikia
akisema “kaka umenikum ll‘?-l leo,™ nikajua kuwa alikuwa akiwasiliana na mjomba. Alipomaliza kuongea,
a-lnuurlc/.u kuwa mjomba na aila yake wangekuja kututembelea siku ambayo ingefuata. Sote tulijawa na furaha
riboribo. .

_ Asubuhi iliyofuata tuliamka mapema tukaanza kufanya maandalizi. Nilienda kizimbani nikaokdta mayai
yaliyotagwa asubuhi lile Kisha nikakifagia kizimba chenyewe. Dada alienda shambani akachuma mboga na
v!ungo kama dania, pilipilihoho na Kitunguu. Wakati huo, mama alikuwa akipiga deki. Niliyapasha maji joto
nikampa baba akacnda kukama.

Tuliingia jikoni kuandaa mapishi. Baba ndiye aliyesonga sima. Mimi, binafsi niliandaa kitoweo. Mama
alipika chapati ambazo wakoi wangu walizipenda sana. maandalizi yote yalipokamilika, niliandamana na dada
tukacnda kituoni kuwapokea wageni. Wageni walivutia sana na mapishi yale. Walipotaka kumsifu na
kumpongeza mpishi, sote tulitazamana. Hatukujua pongeza silipaswa kumwendca nani hasa.

e

13.  Mama alipokea ujumbe kupitia kwa

' A. msimulizi aliyewasiliana na mjomba
B. simu ya mkononi aliyopokezwa na mzimulizi
C. simu ya nyumbani iliyokuwa mezani
ID. barua alivoiandika mjomba wa mwandishi.

14.  Yotc haya ni kweli kuhusu mwandishi na familia yake isipokuwa
A. wanazingalia usawa wa jinsia ol
B. wanafanya mambo kwa ushirikiano
C. walifuga wanyama wa aina mbalimbali
. wanashiriki shughuli za kilimo.

15. Kwa maoni yako, ni nani aliyestahi

A. Wote
B. Msimulizi
C. Dada

D. Baba na mama

Soma kifuhgu kifuatacho. Kina nafasi 16 mpaka 20. Kwa kila swali umepewa majibu manne. Chagua
jibu lifaalo zaidi kati ya yale uliyopewa. :

Nyumba __16 ___ ina scbule kubwa. Dirisha lina __ 17 __ maridadi. Makochi nayo ni ya ___18

Gisi 19  kila sikuili sa_kat'u 20.

16. A. letu B. kwetu C. yetu . :D_ petu
17. A. wilia B. pazia C. sakafu D. pasia
18. A. kupenda B. kppendezja“ C. kupendelea D. kupendea
19. A. hupigambizi B. hupiga-mbiu C. hupigakipenga  D. hupiga deki :
20. A. isichafuke B. kusichafuke C.  yasichafuke D.  lisichafuke

B P

..' i * )

3 ' 3° K.P.S.E.A GREDI YA 6 KISW 008 - '
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Kutoka swali la 21 hadi la 30 chagua jibu lifaalo
zaidi kulingana na maagizo ulivopewa.

21,

22,

<23,

24.

25.

'26.

27.

cow>

Picha hii inaonyesha kifaa cha jikoni.
Chagua sauti zinazokamilisha jina la kifaa
hicho. Kika  ng
A, aji

B. u,i
C. a,a
D. a,o

Chagua orodha yenye vivumishi.
Imba, oga, lima

Nyumba, Kiti, dawati

< Safi, nzuri, laini

® >

C
.D. Haraka, sana, taratibu

Ifuatayo ni mifano ya maamuzi. Yapi
hayajajibiwa ipasavyo?

Shikamoo - Marahaba
Sabalkheri - Aakheri

Wambaje - Hatuna la kuamba
Chewa - Chewa

on >

Nijibu lipi linaonyesha nomino za ngeliya
I - ZI pekee?

. Sufuria, jiko, sanduku
B. Karatasi, kalamu, rula
C. Ugonjwa, upishi,ubele
D. Funguo, nyasi, ndimi

>

28.

29.

30.

Chagua jibu linalounganisha scnl‘cn5| hizi.
Iamali alibeba inzigo. Mzigo ulikuwa wa
Sulu. .

A. Sulualibeba mzigo wi Han.ali.

B. Mzigo wa Hamali ulibebwi na S'ulu.
C. Sulualibebewa mzigo na Hamali.

Y. Suluna llamali walibcbeana mzigo.

—_—

Ni sentensi ipi iliyo katika hali ya ukubwa?
A. Jiko hilo litawashwa baadaye.

B. Kabati lake limefungwa vizuri.

C. lina lake lina herufi chache.

D. Kono hilo lina nguvu sana.

Chagua jibu lenye tashbihi.

A. Wana bidii kama mchwa.

B. Majirani walichanga bia kaxini.
C. Yohana ni duma katika mbio.
D. Msafiri ni aliye bandarini.

Tegua kitendawili kifuatacho.
Dhahabu yangu ya thamani haisimami.
A. Pete :

B. Kipuli

C. Shamba

D. Mkufu

Andika umoja wa sentensi. )
Mawaidha waliyotupa yalitusaidia sana.
Waidha alilonipa lilinifaa sana.
Mawaidha aliyonipa yalinifaa sana.
Waidha alilokupa lilikufaa sana.

. Mawaidha waliyokupa yalikufaa sana.

Tumia vitate kwa usahihi. )
Wakati wa ___ yao, alivaa shati lenye
jeusi. ; :

A. ndoa, doa

B. ndoa, ndoa

C. doa, doa

D. doa, ndoa

K.P.S.E.A GREDI YA 6 KISW 008
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K.P.S.E.A. EIGHTH TRIAL
GRADE 6

Kenya Primary School Education Assessment

253501

- MATHEMATICS -

1. During A gencral election a county had
2345 006 voters. What is the number of
voters in words?

A. ‘Two hundred and thirty (our thousand, five
hundred and six.

B. Two million three hundred and forty five
thousand and six.

C. 'T'wo hundred and thirty four rmll:(m five
hundred and six.

D. Two million, three hundred and fort
thousand and six hundred.

2. Pupils collected a dice with the follpk
numbers.

24,30, 36, 42, 48
The numbers are likely to be multiples of
A. 12
B. 6
C. 9
D. 4
3. Which is the largest number that can divide
48, 60 and 120 without a remainder?
A 10
B 12
C. 240
D. 120
4. A squarc has an arca of 625m>. What is the

measure of its perimeter?
A. 25m
B. 100m
C. SOm
D. 200m

5. ‘There are 4 classes in every Grade in Ickima
school. Livery class has 35 pupils. How many
pupils arc there from Grade 4 to

Gradce 67
A. 105
B. 420
C. 140
D. 280

6. Which is the next number in the pattern below.
L 169,

7. Ann bought 6 trays of eggs in the market.
Each tray had 30 eggs.” She sold each egg at
sh. 12. How much moncy did she make frotn
the sales of all egps?

A. Sh.2 160
B. Sh. 180
C. Sh.360
D. Sh. 720

A safari rally covered a distance of

120km 650m ina day. What is the dlstan(.c
covered in metres?

A. 770 000m

B. 120 650m

C. 120 000m

D. 1200 650m

CamScanner



ere .‘m()!_uu.l\ 40%

9. In: amecting there W
st lnuk

of the guest took sod: aand ther
juice. How many guests took juices?
A. 320
B. 240
C. 480
D. 1040
10. 1heangle of the comner ofplaying ficldis likely
to be
A. rghtangle
B. reflexangle
C. acutcangle
D. obtuscangle.

11. 1tow many small containers can be used to
(ill the big container.

NS

A. 160
B. 16
C. 16 000
D. 1600

3
12. What is the square of 4 2

9 13 -
A, 16 — 16 =~

6 B. 16

3 9
C. 22~ D 22—

4 16

|3 A trader bought six drcsscs at sh. 4 800.
What was the price of cach dress?
Sh. 900
Sh. 800
Sh. 600
. Sh.1200

AR

14.

15.

The weight of Juma is 60.225ke md his

brotheris 1.75kg be wier. What is the sum
of their mass rounded off to the nearest

thousandths?
A. 6197
B. 61.98
C. 61.975
D. 60.23

A farmer’s plotof 2 ind is as shown below.
e fenced round the farm using 3 strands of

What was lengtirof the wirc used?

wire.

RS T

40cm

' 120cm
m 320m '
160m .
480m
) 960m
1 ] 6. Work out the following
4 : + 6 L
6 8
17 17
= 10—
= 24 . B 24
24 I
c. H— 10—
41 i I
17. Thetable below shows l_(occh is

performance m five subjects. The marks
are out of 50.

Subject Marks
| English 45

Kiswahili ‘38 ~
‘|Mathematics {35 3

Science 1] 42

Social Studies 30

How many total marks did he lose?

A. 190 B. 20

C. 200 D. 10

STD 6 MATHS 008 2022

CamScanner



18. The keight ot a classrom door is 4.25m.
What is the heipht in traction?

|
A4 3.
Y 5

|
4 o
19. Aschool parents meeting ended at 10:30am.
It had taken 2hir Faminutes. What time had
it started?
A. 8. 15pm
3.
C. 8.15am
D. 1245pm

2.45am

Simphily thie follow iﬁgcquulion.
12y + 2dm - 8y + 16m
A4y +40m

B. 20y + Smr-

C. 20y —8m

D. 4+40m

-

A matatu carrics 20 passengers every trip.
Izach passenger pays sh. 200. How much
money does it make in 8 trips?

A. Sh.32000

B. Sh. 40000

C. Sh. 1 600

D. Sh. 3200

~

22

Istimate the quotient by rounding ofT the
divided and the divisor to the nearest 10.

875 - 35

A 25
B. 30
C. 21
D. 22

23. Omollo had 86kg 400 of rice. He shared

the rice equally among 6 children. How
much rice did each child get?

A. 14kg 600g

B. 15kg 600g

C. 14kg 400g

1. 15kg 400g

24. What is the volume of the figure shown
below.

10M

A. 960m?
B. 120m’
C. 120m?
). 960m’

Which of the following number can be

multiplicd by 0.0024 to make it 247
. 100

10
0.001
1 000
Work out:
Minutcs Seconds
15 - 40
X -1
165min 440scc

B. 172min 40scc
C. 169min 40sec
D. 172min20sec

27.

A cow produces 20 litres of milk in the

morning and evening. How many litres does

it produce in a month of 31 days?

A. 620litrcs , o
B. 800 litres
C. 400litres -
D. 1240 litres 3 :
- ‘/’ 3%
s dk
" STD 6 MATHS 008 2022
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28. A wedding ccremony was decorated with
735 red ribbons, 920 yellow ribbons and
| 115 green ribbons. [ the cost of cach

ribbon is sh. 10, how muc
pay forthe yellow ribbons
A. Sh. 1850

B. Sh. 16550

C. $h. 7350

D. Sh. 1950

h more did they
han red ribbons?

29. Whatisthe size ofangle y?

50
A. 130°
B. 80°
C. 100°
D. 50°

30. Whichoneofthe following is a pyramid?

4 STD 6 MATHS 008 2022
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- INTEGRATED SCIENCE -

253501

Time: Thr 40min

1.

The Tollowing discases can alfect the
respiratory system, Which one does not?
A, Bilharzia, B, Common cold.
C. Tuberculosis D. Asthma

Grade 5 learners class classiliced plants as shown

Plants

below

Ncn-green'

Grel-en
|

l
Q

Peas i% -Mushroon

Parts Q and R are respectively.
A. lichen, beans B. maize, lichen

C. mould, moss 1D. cactus, fern

and

I'he following experiment was set-up during a

science lesson. What conclusion did the leaners
al 9 3

make’ Coloured ink

Bottle

Stand

ﬁ ——Source heat

A. Pressure increases with depth,
3. Gases occupy space.
C. Liquids expand when heated.

“D. Solids occupy space.

Ali lit 4 bulb in their house. Heat from the bulb
reached his head through )

© A. radiation

B. conduction and convection

C. conveetion
). radiation and convection

—

A patient was diagonised with the following
symptoms.

(i) Muscle aches

(ii) Fever

(iii) Shivering and sweating

(iv) Weakness in the body:.

Which discase could the patient be suffering

6. Ova is produced in the part marked
A E B. G

C. H D. F >

7. Grade 4 learncers classified the following
animals in various groups. Which group was

correct?

A. Frog B. Tilapia -
‘Newt Nile perch
Snake Shark
Salamander lizard

C. Osltrich ~D. Chamelcon
IHen Crocodile
Pigeon Snake
Mudfish ‘Tortoise

8.  What is the function of the tooth below?

. Tearing and biting,.

3. Cutting and tcaring.

C. Grinding and crushing.
). Grasping and biting.

—

—

9.  Which of the following insects belong to the
same -group as the spiders? |
A. Ticks. B. Locust.
C." Bees. D. Weevils.

_is the component of air used by plants

10.
to make food. 4
A 21% B 78%
C. 0.03% D. 0.97%

11. The following factors affect floating and sinking
.Which one does not?_ “of the materials,

[rom® A. Size B. Type
A.  Anacmiy B. Cholera C. Weight D. Shape
(. lyphoid 1> Malaria )

T Wakiiter ww iesmanuhblishersltd.com E-mail: iesmapublishers@yahoo.com

CamScanner




12.

I5.

16.

17.

18.

Gradce 4 Icarncrs mentioned safely precautions

when using computing devices. Which one is

not a safety precaution?

A.  Accept messages or iriend requests [rom
the people you know.

B. Do not share personal information.

C. Keceep to yourself something that happen
online and you didn’t like?

D. Do not meet anyone who you have only
madec fricnds with online.

is an instrument used to measure
temperature?
A. Raingauge BB. Hygrometer
C. Windstock D. ‘Thermomeler

_run vertically
run horizontally

In a spreadshect document
across the worksheet while
across the worksheet.

A. layers , ccell B. columns, row

C. rows, column D.ccll address. workbook

The following is a description ol a certain

blood vessel.

(i) Connect arteries and small veins.

(ii) Do not have valves.

(iii) The walls have one layer of cells.

(iv) Nutrients, oxygen and waste producls
puss through the wall.

Which blood vessel is described ab

A. Capillaries B. Veins

C. Arecries

Academy obscrved some characteristics of a

certain type of soil crosion,

(i) 1t forms deep V-shaped or U-shaped
channels.

(i) Occurs where fast flowing water continously
carries away soil particles.

Which type of soil erosion did they observe?

A. Rillerosion. ’

B. Splash erosion

C. Gulley crosion

D. Sheet erosion

Grade S observed a certain creeping plant. The
[ruits arc not cdible but are used as a containers
lo store liquids. The fruits turn from green to
bro_wn when they mature. The type of creeping
fruit observed was .
A. ‘cucumber B. strawberry
C. pumpkin ). calabash.

The removal of excess vines form a plant is
known as
A. prunning
C. thinning

B. mulching
D. weeding

Which among the following is the bt‘st.way lor
protecting crecping crops from wet soil?

A. By applying manurc

B. By mulching

C. By using wiremesh.

D. Putting a shade.

The following are exampes of poultry except

20. j
A. parrot B. qu;.uls )
C. ducks ). guincapigs

21. Which among the following is pot an example
of agro-chemicals used in the farm to control
weed and pests? N
A. Fertilizers B. Herbicides
C. Manure D. Pesticides

22. The 4K club in Songa Mbele School made

sunken scedbeds and made a polythene lining
to cover the hole. What was the main purpose
of the polythenc paper?

A. To prevent loss of water .

B.  To maintain steadly growth.

C. To beutify the seedbed.

D. For easicr harvesting ol the produce.

Among the following, which method of weed
control is least harmful to the environment?
ATpSpraying and digging.

rooting and digging out.

gshing and chemica! control.

rning and chemical control,

23

onc of the following is splash crosion
Rety*to occur?

A. Atriver beds.

B. On a fat surface.

C. Onasloppy hill.

. Near the roof of a house.

25. The purpose of constructing the structure below
over the plants is

A. to beutity the garden

B. for higher yicld of crops
C. for easier spraying

D. to conserve moisture.

2 K.P.S.E.AGrade 6 Integrated Science 008
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26.

27.

28.

29.

30.

31,

32.

33,

:she should dress decently? To

Which part of material is used for planting
sweet potatoes?
A. Culling

C. Sceds

34,

3. lL.caves
1. Roots

Grade 6 boys were instructed by their teacher
to transplant scedling in the evening. What was

3s.

the main purposc (or that?
A. To avoid damaging the roots.,
3. In the evening there are not many pupils

in the compound.
C. The temperature is low and the direet

sunlight can damage the scedling,
D. To reduce moisture Joss [rom the plant.
‘I'he best way to maintain the wheel of-a
wheelbarrow is by
A. cleaning the wheel
B. oiling 36.
C. covering it with polythene bag
D. storing it upsidedown.

A farmer in Mwanza arca build a deterent
shown below. Which wild animal was he
likely to keep off?

A. Monkey.
B. Squirrels
C.Fox

D. Guine

"}

A~

Which is the best tool for taking ca

_is the process of deciding what will
eat for every meal and geting it prepared
before time, .

A. Mcal time
C. Meal planning

~ B. Budgeting
D. Family meals

During grade 6 cookery practicals, four groups
of pupils were given various foods to classify.
They classified the foods as follows;

Group 1: Liver, kales, mashed potatoes

Group 2: Arrowroots, boiled maize, cassava
Group 3: Milk. eggs, pork ;

Group 4: Groundnuts,. porridge, fruitsalad
Which group consists of energy giving foods

only? :
A. Group | B. Group 2
C. Group3 D. Group 4

Grade 6 learners from Kiombi School were
discussing different safety measures which need
to be obvserved when cleaning a cooking
equipment. Which of the following measures is
incorrect? . g
A. Do not unplug the cooker from the socket.
B. Switch off the cooker.
C. Wipe spilled water to avoid falls.
Ensure the equipment is cooled.
ould we cover meat after putting it in
ntainers before storage? To
vent it from drying up

legume crops during weeding?
A. Jembe B. Rake.

C. Showel D. Folkjembe.

What do we call the process of maintaining food
in good condition to avoid spoilage?

A. Conscrvation. B. Cooking

C. Preservation. D.Contamination.

Bessy a grade 6 pupil is preparing to attend
her cousin’s birthday. State one reason why

A.
B.
C.
D.

show case her matching skills
look respectful and appreciated
slay and impress her peers
show off to her cousisn.

Murife drew the following picture in his
cxercise book. What mineral don’t we get
from it? .

Sodium.
. Calcium,
lodine.
Iron.

C. make it casy to cook
D. add more nutrients.

38. Wamari drew the following pictures of foods

rich in iron. Which one of the foods is net rich
iniron?

A B

- ;
39. Liam, Nila, Joshua and Koki were discussing

the importance of iodine in our bodies. Who
among the four pupils gave an incorrect answer?

A. Nila - lodine helps in brain development.
B. Koki - lodine repairs damaged cells.
C. Joshua - lodine helps in making thyroid
~ hormones. '
D. Liam - ledine helps to control growth.
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R o= wens ape
< the ‘-‘m{ ¢ drg ’c"c,,.‘_d AR v o ’ 3 s s -
ade Tom Ngao School was
-ooki . Ken a grade 6 boy fror . b
40. Grade 6 pupils wers Bked X wo'\l'ng 1 cl:ccn laikling a ball while playing 2 hdnd_h.l“.
cquipment found in their homes 210 Ly lOCdl\I!ly‘ Which ol the following sentences explain
: - - ment below i a cooking i .
Whllch of 1!10 equipment below is not a g best what e skill involve?
equipment? ‘ A. Dribbling a ball past an opponent.
Yaralll . e .
A. l\dldl!ll] stove. 5. Dodging ilie opponcnl- . -
3. Cooking pot. C. Passing a ball to a lcammate so as Lo scorc.
Gy Gl e ‘ (,‘Lul'lcxinn the opponent using your arms
. ‘Traditional open fire place. D. Conté g - acker from
and chest to stop an ‘attac
f1he followi , Ftwo methods advancing.
41. Whichofthe fo owing consists ol twome S i aorade 6 -
e * & . . , e . ojven by a gradc
that Kipkocch a PHE instructor can use to start | 47. The lollowm.g rcason‘s WCF;— b'h sli)ding e
an athletic match? pupils of Hillpark SCh(I)O Y 4
A. Shoulder slirug and drop finish technique. important skill in softbal -"1
3. Bunch fish and drop start. Boaz: 10 get lagg(‘('] castly:
C. Elongated and bunch start technique. Joseph: To make & dlvcrslo'n. E .,
1>. Warm ups and cool downs. Bosire: ‘To get the post casily Withotts
: down. Rl
: . . “l'o help one to get Lo the base quickly
42.  An athletic event where the outgoing runncr i 50 &5 lg avold 'f:l'lg
. . . N h [ (4 .
receives a baton without himself sceing the e
baton is known as Who gave a wrong responses |
o ¢ a2 B. Joscph
A. visual exchange baton g i:o‘u. D Boﬁ:ifc
B. athletic competition - Ann , ' ’
C. non-visual exchange baton 48. Alex a grade 6 boy at Mashimoni Primary was
D. running exchange baton. observed performing a gymnastic skill below.
43. The figure below shows a grade 6 Eg;’g‘ohﬁiil‘gﬁ; i ¥
a volleyball skill. The skill shownfbelow isgfia, Eﬂ
Bf ¢ ho§ !
known as il E 2 hof ﬂ
i ; E £ - i
§ ! Lt S | E;,"'.‘“-J:
B TSI 1y T —
sy 'M e 4 . .
o The type of stand shown above is known as
A. split leg elbow stand”
B. hcadstand
A. underarm service C. hand balance
B. overarm service T D. scorpion clbow stand.
C. avolley service : -
D. adig 49. The following statements relates to health
' related fitness skills. Which onc of the following
oo ’ . ; statements explains the meani apilitv
44. The following are cxamples of attacking skills A. The qsbf:r\tplams l.h(' .n“'dnlng_Ofdg'my')
which Mwaniki can employ while playing a ' cnab; ility to distribute weight evenly to
Kabaddi game. Which onc is the odd one? steadil a person to walk or carry something
P :adily.
) A. Ankle hold. B. Toc touch. B. It is lhy' bili :
C. Hands touch.  D. Foot touch. 3 S fas EEI IMONC all or some parts of
the body quickly.
C. It is the ability 10 qui
- e ) ) d y to quickly change positi
45, The following learning points should be and direction of lh? baid }“ hiclmgt pagtion
observed while performing a discuss except ’ D. Itis the time that one mzcs1 ¢ in control.
N 4 3 )
A. the thrower should not touch the ground given command o respond Lo a
beyond the circle )
. 2 e 50. A typcofro it r
13. the disc should be thrown from a circle S Z%vi{l)ftlrope skiping skill where one skips a
C. the thrower should not lcave the circle hcf:[s g \ l].c_loes touching and heels apart, then
immediately after throwing the discuss partiscalled
. > . A. straddle and straddle A
D. The thrower should not touch the top of the B. heel ta ¢ crouss
: . . s
le. P
run of the cir¢ C. swing kicks
D. wounded duck.
4
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